





A

 BO  



 A

B C



 



   
Ex.1 20 m 

60º 
Sol.  AB AC 

C A

B 

60º
 

, AC = 20 m ACB = 60º. 
AB = h

, AC
AB  = tan 60º = 3    20

h  = 3
 h = (20 × 3 )m = (20 × 1.732) m 

  = 34.64 m. 
Ex.2 6m 

32

Sol.  AB AC 


C A

B 


 

AB = 6 m, AC = 32  m 



ACB =  
, tan  = AC

AB  = 32
6  = 3  = tan 60º.

  = 60º. 
Ex.3 

45º 
3m 

Sol.  AB CB 

C A

B 

45º
 

, AC = 3m  ACB = 45º 
, AC

CB  = sec 45º = 2   3
CB  = 2

  = CB = 23
= (3 × 1.41) m = 4.23 m 

Ex.4 200 
60º 

Sol.  B AB 
C CB 

C A

B 

60º
 

, BC = 200 m  ACB = 60º 
, BC

AB  = sin 60º = 2
3

 200
AB  = 2

3

  AB = 



 

2
3200 m = 173.2 m.

Ex.5 1200m 

60º 45º 

Sol.  B C, D 
AB 

45º

45º 60º

B

D C A

1200 m
60º

, AB = 1200 m, 
ACB = 60º ADB = 45º. 

, AB
AD  = cot 45º = 1

 1200
AD  = 1  AD = 1200 m

, AB
AC  = cot 60º = 3

1

 1200
AC  = 3

1   AC = 3
1200  = 3400  m.

Ex.6 
7m 

30º 45º 

Sol.  AB BC 

45º30º

C

B

AO  
, BC = 7 m,  AB = h 

 O 



, AOB = 30º  AOC = 45º. 
, AC

OA  = cot45º = 1
 OA = AC = h + 7. 

, AB
OA  = cot 30º = 3

 h
OA  = 3    OA = 3h

  h + 7 =  3h

 h = 13
13

13
7


  

= 2
)13(7   = 9.562 m

Ex.7 30 m 
30º 

45º  : 
(a) m)31(15  (b) m)13(30 
(c) m3

1130 


  (d) m3
1130 


 
Sol.  AB  CD 

 

30º

30º

45º

B

E

A C

D

, AB = 30 m DC = x 
DE  AB AE = CD = x. 
 BE = (30 – x) m. 

, AB
AC  = cot 45º = 1

 30
AC  = 1  AC = 30 m.

  DE = AC = 30 m. 

DE
BE  = tan 30º = 3

1

  30
BE  = 3

1

 BE = 3
30 .

  CD = AE = AB – BE = 


  3
3030

= m3
1130 


 
Ex.8 25 m 

Sol.  AB CD 

 

 B 

D

E

CA  
, AB = 25 m, B BE  CD 
EBD = ACB =  

, BE
DE  = tan   AC

AB  = tan 

 BE
DE  = AC

AB ,   DE = AB
[ BE = AC] 

CD = CE + DE = AB + AB = 2AB = 50m 
Ex.9 60º 

30 m 

(A) m330  (B) 15 m 



(C)  m3
30 (D) m215

Sol.  AB AC 
,  = 60º  AC = 30 m 

A

B

C 60º
 

 AC
AB  = tan 60º   30

AB   = 3

 AB = m330  
Ex.10 30º 50m 

- 
(A)  m3

50 (B) 350 m 

(C) 25 m (D) 325  m 
Sol.  AB AC 

, AB = 50 m   = 30º. 

A

B

C 30º

 AB
AC  = cot 30º = 3   350

AC 
 AC = 50 3  cm.  

Ex.11 30º 60º 
15 m 

 - 
(A) 7.5 m (B) 15 m 
(C)  m310  (D)  m3

15

Sol.  AB = 15m,  = 30º, AB
AC  = tan30º

 AC = 3
15 m.

AB = 15m,  = 60º, AB
AC  = tan60º

 AC = m315  


= 


  3
15315   = 3

30  = m310 .

Ex.12 80 m  62.5 m 
45º  - 
(A) 17.5 m (B) 56.4 m 
(C) 12.33 m (D) 44 m 

Sol.   AB  CD 
AB = 80 m  CD = 62.5 m 

 

ED

C A

B

45º

DE  AB 
 EDB = 45º 

, BE = AB – AE = AB – CD = 17.5 

BE
DE  = cot 45º = 1 DE = BE = 17.5 m.

Ex.13 200 m 
30º 

60º 

(A) 200 m (B) 500 m 
(C) 30 m (D) 

Sol.  C C 



C

C' 

L S

A B30º
60º

 CS = CS = x. 
, AB

BC  = tan 30º = 3
1

 x – 200 = 3
AB

, AB
'BC  = tan 60º = 3

 x + 200 = 3)AB( . 
 )200x(3   = 3

200x 

or  x = 400. 
 CS = 400 m. 

Ex.14 

  : 
(A)  sec2cos  (B) 2seccos 

(C)  eccos2sin  (D) 2eccossin 
Sol.  C O OX 

OA  OB 
AOB = , XOC =  

CA = CB = 
OAC OBC 

C
A

N X

B


 

O
 AOC = BOC = 2

 . 
CN  OX 

, CA
OC  = cosec 2



 OC =  cosec 2
 ....(i) 

, OC
CN  = sin 

   CN = OC sin 
=  cosec 2

 sin [(i) ] 
Ex.15 

45º 

20 m - 
(A) 20 m (B) 28.28 m 
(C) 14.14 m (D) 40 m 

Sol.  A  B 
AB = 20 m  BAC = 45º 

 
45º

A

C B  
, AB

BC  = sin45º = 2
1

 20
BC  = 2

1



 BC = 2
220  = 14.14 m.

Ex.16 
30º 

6 
60º 

 - 
(A)  min33   (B) min3
(C) 1.5 min (D) 3 min 

Sol.  AB C  D 

30º 60º

B

ADC  
, ACB = 30º  ADB = 60º 

AB = h 
, AB

AD  = cot 60º =  3
1 

   AD = 3
h

, AB
AC  = cot 30º = 3

 AC = h3  

CD = AC – AD = 


  3
hh3  = 3

h2

u m/min 
6 min = 6u m 
 CD = 6u  3

h2  = 6u  h = u33

, AD = 3
h  = 3

u33  = 3u

A 
= AD  A =  u

u3  = 3 min
Ex.17 150m 

2 60º  45º 
- 

(A) 2 km/hr (B) 1.9 km/hr 
(C) 2.4 km/hr  (D) 3 km/hr 

Sol.  AB C  D 
AB = 150 m, 

ACB = 60º  ADB = 45º. 

D A

B 

45º 60º
C  

, AB
AD  = cot 45º = 1

 150
AD  = 1  AD = 150 m.

AB
AC  = cot 60º = 3

1   150
AC  = 3

1

 AC = 3
150  = 350  = 86.6 m

 CD = AD – AC = (150 – 86.6) m = 63.4 m 
 2 min = 63.4 m 


= .hr/km1000

60
2

4.63 


   = 1.9 km/hr. 

Ex.18 100 3
100 

Sol.  AB, 100 3 C 
100 



 C

B

C A100 m 

m3100


CAB 
tan = AC

AB

 tan  = 100
3100  = 3

  = 60º 
100 

60º 
Ex.19 40 m 

30º 
45º  (i) 

(ii) 
Sol.  BC h 

CD h1 
B 40 m 

A 

A B

D

30º 45º h
C

h1

ABD 
tan 45º = AB

BD

 1 =  40
hh 1

 h + h1 = 40 m ….(i) 

ABC tan 30º = AB
BC

 3
1  = 40

h  h = 3
40  m

= 3
340  m = 23.1 m

(i) h 
 23.1 + h1 = 40 
 h1 = (40 – 23.1)m = 16.9 m 

Ex.20 
a  b 

, 
, cot = ab

cotacotb




Sol.  AB C  D 
A a  b 

B

D
b a x

  

AE = x BE = h 
ABE  

tan = AE
BE

 tan = x
h  

 x = h cot  ....(i) 
CBE  

tan = CE
BE



 tan = xa
h
   a + x = h cot 

 x = h cot – a ....(ii) 
DBE  

tan = DE
BE

 tan = xb
h
   b + x = h cot 

 x = h cot – b ....(iii) 
(i) (ii) 

 h cot = h cot – a 
 h (cot – cot ) = a  
 h =   cotcot

a ....(iv) 
(i)  (iii) 

 h cot = h cot – b 
 h (cot – cot ) = b 
 h =  cotcot

b

(iv)  (v)  h 

 cotcot
a  =  cotcot

b

 a(cot – cot ) = b(cot – cot ) 
 (b – a) cot = b cot – a cot  
 cot = ab

cotacotb




Ex.21 h 






tantan
)tan(tanh

Sol.  AB P 
AP = h C 

C´ 

CB = C´B, PM, P CB 
CPM =   MPC´ =  CM = x 

C

MP
h

 


x 

h
A` B` 

C` 

x+h` 

, CB = CM + MB = CM + PA = x + h 
CPM  

tan = PM
CM

 tan =  AB
x [ PM = AB] 

 AB = x cot  ....(i) 
PMC´  

tan = PM
M´C

 tan = AB
h2x 

 [C´M = C´B + BM = x + h + h] 
 AB = (x + 2h) cot  ....(ii) 

(i)  (ii) 
 x cot = (x + 2h) cot  
 x(cot – cot ) = 2h cot  
 x 




 tan
1

tan
1 = tan

h2

 x 






tantan
tantan = tan

h2

 x = 


tantan
tanh2

,  = x + h 



= 


tantan
tanh2  + h

= 


tantan
tanhtanhtanh2

= 


tantan
)tan(tanh

Ex.22 100 m 

P Q 
P  Q 

30º  45º 
Sol.  OA h 

POA  QOA 
tan 30º = OP

OA   tan 45º = OQ
OA

 3
1  = OP

h   1 = OQ
h

 OP = 3 h  OQ = h 
 OP + OQ = 3 h + h 
 PQ = ( 3 + 1)h 
 100 = ( 3  + 1)h  [ PQ = 100 m] 
 h = 13

100
 m 

 h = 2
)13(100  m

 h = 50(1.732 – 1) m = 36.6 m 
36.6 m 

Ex.23 
 

k 




cotcot
)cotsin(cosk

Sol.  AB O 
O 

AOB =  AOC = 
OC = k C CD  CE AB 
OA 

, DCB = . 
h AB 

OCE 
sin = OC

CE

 sin = k
CE

 CE = k sin   ...(i)  [CE = AD] 
 AD = k sin  

, cos = OC
OE

 cos = k
OE

   OE = k cos  ....(ii) 
OAB 

tan = OA
AB

 tan = OA
h

 OA = h cot  ....(iii) 



 CD = EA = OA – OE 
= h cot – k cos  .....(iv) 

[ (ii)  (iii) ] 
BD = AB – AD = AB – CE 
= (h – k sin ) ....(v) 

 [ (i) ] 
BCD 

tan = CD
BD  tan = 


coskcoth

sinkh

[  (iv)  (v) ] 
 cot

1  = 


coskcoth
sinkh  

   h cot – k sin cot = h cot – k cos 
   h(cot – cot ) = k(cos – sin cot ) 

 h = 


cotcot
)cotsin(cosk

Ex.24 
45º 30° 
1000 m 60º 

Sol.  FOS  F S 
OFS = 45º OSF = 45º 

OF = OS = h km( )  
FP = 1000 m = 1 km 

OFP = 30º PM OS  PL OF 
PS MPS = 60º 
FPL 

S

M P

OL F 45º 30º

60º1000m 

sin 30º = PF
PL

 PL = PF sin 30º = 


  2
11 km. = 2

1 km.

 OM = PL = 2
1 km

 MS = OS – OM = 


  2
1h  km  ....(i)

, cos 30º = PF
FL

FL = PF cos 30º = 



  2

31 km = 2
3 km

, h = OS = OF = OL + LF 
 h = OL + 2

3

 OL = 



  2

3h km

 PM = 



  2

3h  km

PSM 
tan 60º = PM

SM

 SM = PM. tan 60º ....(ii) 
 


  2

1h  = 



  2

3h 3

 [  (i)  (ii) ] 
 h – 2

1  = h 3  – 2
3

 h( 3 – 1) = 1 
   h = 13

1


 h = )13()13(
13


 = 2
13   = 2

732.2



 = 1.336 km 
1.366 km 

Ex.25 A 


B 
AB = d, 

 22 cotcot
d

Sol.  OP A  B 
OAP =  OBP =  OP = h 
OAP  

tan = OA
h

 OA = h cot  ....(i) 
OBP   

N P 

W E

S 
A 
O B 

h 

 


tan = OB
h

 OB = h cot  ....(ii) 
OAB 

 AB2 = OA2 + OB2 
 d2 = h2 cot2 + h2 cot2  
 h =  22 cotcot

d  [  (i)  (ii) ] 

Ex.26 A 
 A 

B 


22 sinsin

sinsinAB

Sol.  OP OP A 
 A B 

OAP =   OBP = 
h 

OAP  OBP 

A

B

P

O

h 



tan = OA
h   tan = OB

h

 OA = h cot   OB = h cot . 
OAB  
 OB2 = OA2 + AB2 
 AB2 = OB2 – OA2 
 AB2 = h2 cot2 – h2 cot2  
 AB2 = h2 [cot2 – cot2 ] 
 AB2 = h2[(cosec2 – 1) – (cosec2 – 1)] 
 AB2 = h2(cosec2 – cosec2)  
 AB2 = h2 







22
22

sinsin
sinsin

   h = 

22 sinsin

sinsinAB

Ex.27 4000m 

60º  45º 

Sol.  P  Q 
Q, P OP = 4000 m 

P  Q A 
60º  45º  
AOP  AOQ 



tan 60º = OA
OP   tan 45º = OA

OQ

  3  = OA
4000   1 = OA

OQ

 OA = 3
4000   OQ = OA

 OQ = 3
4000 m

P

Q

60º45º
A O

4000 m


= PQ = OP – OQ 
= 


  3

40004000 m = 4000 3
)13(  m

 = 1690.53 m 




